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SECTION-1| GENERALAPTITUDE TEST |25 QUESTIONS

We need to find the value of ‘a’ from the

below two equations, if both a and b are

positive integers.

1) 2a+b=22
2) 3a-2b=12

MNow, read the below options and select the
one that applies.

(A) Only Equation 1 is sufficient to derive
the value of a’.

(B) Only Equation 2 is sufficient to derive
the value of *a’.

(C) Neitherequations 1 or 2 alone are
sufficient, but both together are required
to derive the value of ‘a’.

(D) The value of *a’ cannot be derived by
any individual equation or even by both
equations combined.

If in a coded language 'PEASANT" is
written as ‘RQYVYHN’, how will
‘RANCHER’ be written in the same
language”

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

Ql

Q2

afg a 3R b g qoie & @
Fr=fafan ofswl 9 &1 2 51 9=
TR ST B

1) 2a+b=22
2) 3a-2b=12

¥, Frefofes e Wk s W
W RFea ar &, S8 977 Hifow

(A) ‘a* & 7 o A @ fow dad
i | yafe &)

(B) ‘a’ & WIF 50 oA & forw daw
e 2 T #

(C) ‘a’ & 97 o oA & fog =1 o
el i | waia & v = @
e aiT 2 v 8, wNg 2T
| # maEe ¥

(D) ‘a* &1 7= 5l f v wlitewor 9
781 s fFm o v &, 9w 0w
f& 2 Tt & wgwm wu A0
6 s fe o w9 an £

% @ 9 7 I ‘PEASANT &1
‘RQYVYHN' forn @mr &, &t o+ 32
W17 % ‘RANCHER® &1 3% forar wmoar?
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP
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Study the given table carefully to answer the
question that follows

Sale (in crores) of no. of units by four
companies (cos.) over the years (yrs).

Co.yr] 2015 [ 2016 [ 2017 [2018 |
A | 1158 | 85.7 | 58.9 |46.6 |
B | 150.1 | 76.3 | 37.2 |39

C | 933 | 695 | 53.7 [489

| D [1806 ] 111 1'211':_'}5.'1'?,

Which company has sold the maximum num-
ber of units over the years?

(A) A

(B) B

(€) C

(D) D

If P+Q impliesP-0Q
P-Q impliesP xQ
PxQimpliesP+Q
P+QimpliesP+0Q

Which of the following is TRUE?
(A) 1 +2-6%x3+8=8
(B) 6+2-3x1+4=12
(C) 25+6-45%x9+23=18
(D) 10+4-3x1+2=5

Find the odd one out of the below geometrical
shapes.

Rhombus, Triangle, Square, Parallelogram,
Rectangle, Trapezium

(A) Rhombus
(B) Triangle

(C) Parallelogram
(D) Trapezium

TEEGOOET

Q3

Q4

Q5

f=ifarfaa afeer & M 9§ @ 3R
s a2 v 70 ur & 9w ¢ |

R $ufal g Nod o a6l § A
afew & fad (w9 #)

#./@i] 2015 ':'{I_i_ga___'zul_:fJf;Tm'
A 1158 ] 857 | O89 | 466
B_|150.1 | 76.3 | 37.2 | 39.1
C | 933 | 69.5 | 53.7 | 489
b Toe it T 2ra 1354

frest o aul # f5w @ 3 wfemm
vie % afew A e A0

(A) A
(B) B
(€ C
(D) D

i P+Q w1 Al BP-Q,
P-—Qararel 8P xQ,
PxQ®raef 8P+ Q,
P+Q@ai d P+Q @

ffafaa 4 @ &9 @ o= W 87
(A) 1+2-6x3+8=8

B) 6+2-3x1+4=12

(C) 25+6-45x9+23=|8

D) 10+4-3x]1+2=5

frfafaa sofida argfoal 4 @ f=
arpfa @ geEr B

W, Bojor, @, ewio awe, s,
T T

(A) Fa

(B) B

(C) wwiaR wepo
(D) |9 T
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Find the odd one out from the below group Q6

of names.

Guava, Watermelon, Lettuce, Apple, Kiwi,
Mango, Pear, Pomegranate

(A) Lettuce

(B) Kiwi

(C) Pear

(D) Pomegranate

Study the below diagram and identify the
option that is NOT correct.

Goat

Q7

e B2Bz

Z36

(A) Some lions are not goats
(B) Some goats are lions
(C) Lions are notsingers
(D) Some goats cansing

(A) HATE—gT
(B) @I

(C) =Tt
(D) IR

fr=ferfaa s &1 agge o el 99
G e B 2 B 1 o | s e B 4

L LTl

(A) o IN FHRY 76 8
(B) 5 Tl Iv &
(C) IR MuE 7El §
(D) O TIHNGT M wF §
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Q9

Twao positions of a dice are shown as below.
Ifthe number 6 is exactly opposite to number
4, then which number is exactly opposite to
number 37

(A) 1
(B) 2

(C) 5
D) 6

Deepak left his home and walked 4 km
towards east, then turned left and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
east, then turned left and walked 8 km to
reach her college. What is the shortest
distance between the office and the college?
(A) 10km
(B) 13km
(C) 17km
(D) 18km

Q8

Q9

frr=ifoiftan @ e o9 @61 = Ruftar
weifa @ 7€ €)1 afy SEn 4 99 wew
% faege fauda 6 8, o W 3 A

Hed @ fRepa fAvda 95 W e &2
'
(a) 1

®) 2

©) 5

D) 6

qus e wF & g o W@
fr@er®t 4 km q¥g @ AR 9o &, o
M §§ TN 3 km T 8| IHS a8
@fter Fiee 99 @ fog oW W R
et 16 km X9 3 AR Toch &, ol
oY @Y 8 W 8 km worh &) Siffbw
AR Flew @ w1 7w g e 87
(A) 10km
(B) 13km
(C) 17km
(D) 18km
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Q10 Ifthe pentagon shown below is rotated anti- Q0 3Rk Frfafa # weffa doa & o

clockwise 270° three times, the thombus is # g # fAudm w4 9= aw 2700

rotated clockwise 45° four times, and the gHr SR 8, arege vl @) g€ A

mirror image of the alphabet is used, then R % W® aw 45° g o 8, ofv

what is the resulting figure? 3 w1 vy wiafde S fsar o d,
ot aRemh anefy #= @ enfre

(A)
(A)

(B)
(B)

(©)
()

(D)

ORONORC)

(D)

B~
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Q11

Q12

Below is a statement followed by two
conclusions. Read the statement and
conclusions and determine which
conclusion(s) logically follow(s) the statement
given.

Statement:

For late return of books by readers, a library
charges penalty of T 10 per day for the
number of days of delay beyond the due date

Conclusions:

I) Penalty for costlier books will be
higher.

i) Penalty for lighter books will be lesser.

(A) Only conclusion I follows

(B) Only conclusion Il follows

(C) Either conclusion | or Il follows
(D) Weither conclusion | nor [l follows

Choose an option that is a valid assumption
for the below statement.

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacations.

(A) During vacations, kids love to travel by
trains instead of acro planes.

(B) Passenger traffic in trains significantly
increases during vacations,

(C) Peopleneed change and like to see new
trains during vacations.

(D) Engine drivers like to work for more
hours during vacations.

LM-A
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Ql2

fr=ifafaa v sum v 9w e 2
frspd 2w o & ) e ok Fresd] &1 od
ik Fuifta =¥ & W w/9 Fol
s w9 | Ry 10 FuF &1 ITE
we /o B/

HUA:

U E@ed uedt g e @ qw
amE Hed uy, gl ) Feifta B @
are facfa Rl & e uf RE 0@
Fefgs oem &1

frrsnd:

N wEh gl @ fog aefes afs
BT |

I wEh gEret & forg sedds & g

(A) daer Frepd | srpave w8

(B) daa fssd 11 argavor wvar 8

(C) @ ot e | ar Fresd 1 e
we #

(D) = ar fepd 13k 5 & Fresd 1

T e #

a4 fwey &1 wa= @t o Frafafaa
su & forg 3 qdaron 81

U

@ Haeg A gt @ fa dide wea
& = § aun g 24 afRew
fea e &)

(A) Bfedl i 7= garE el @ Ao
29 W AT B THE ae ¥
B) gfegt & gt § afdl @ e
qg o 8

(C) =1 afEat # azama ared & afw 7
o @ e & 8

(D) Zu+ arae gigat 3 afe g2 am
& gHe o )
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Read the statement below and two courses
of action given. Choose which course(s) of
action need(s) to be taken with regard to
the statement given.

Statement:

Despite having a standard work timing of
10 am to 6 pm, there has been more number
of cases of employees reporting late for
work, which affects the work flow in the

factory.

Courses of Action:

I.  Theemployees must be givena
waming and strict disciplinary action
must be initiated if no improvement is
found.

Il.  The work timing must be made flexible
so that everyone is able to come as
per his or her own convenient time.

(A)
(B)
(€)

Only Action | needs to be taken
Only Action 11 needs to be taken
Either Action | or Action Il needs to
be taken

Neither Action [ nor Action I needs to
be taken

D)

If Puzzle :: Solve, then Essay :: 2. Identify
what can come in place of “7".

(A) Resolve

(B) Dictate

(€) Recite

(D) Write

QI3

Ql4

Fr=fafte su= @ ok owe 9 & o
a1 fraffl & 3| wam w5 Ry
TN Y $ Hed 7 I @ afaf s
ranfaferat s il e

Y
BB 6 W Saf qaE 10 a9
¥ ¥id 6 79 7% B9 & FragE, 1N e
e o w8 & 5 oderd am ow A @
It & Fored svar § sm-a gafa
B ®

fanfafer

1. weft o Sae & o & afy
@I GUR 8 B 8, o) 9 favg
HOR TS Drian A
gt |

1. &/ & sy ¢ & mfty R
vl aar soe gRmeEe Wi
U HH U I HE |

(A) @adt frafafey 1 sromd o s &

(B) #as frafafer 11 aod o wadt &

(C) @1 o Fanfafd | ar 1 3o o
w8

(D) = o frfaf 1afm 7 & fFrmfAf 11
HUTE O HEOr €

af? udelt ; wwmE, & P 2 Rt
& % geEfae () & W g
Frfefaa & @ 959 a1 v an e &7
(A) &
(B) feraar
(C) Irqare=
(D) foramn
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Q15 Select the option that is related to the third
term in the same way as second term is
related to the first term.

Temperature : Thermometer :: Humidity : 7
(A) Spectrometer

(B) Seismometer

(C) Hygrometer

(D) Osmometer

Q16 Inacertain coded language, if “LITMUS"
is written as “SMIUTL" and “INDIGO" is
written as “OINGDI", then how is the word
‘JAGGER' woukd be written in that language?
(A) RGAEGJ
(B) RGIEGA
(C) RGAGEJ
(D) RGIEAG

Q17 Inacertain coded language, if ‘“TABLE' is
written as “VEDNI" and *CHAIR’ is written
as ‘EJEOT”, then how is the word ‘BENCH’
would be written in that language?

(A) DIPF]
(B) DGPEJ
(C) DIPEJ
(D) DGPFT

Q18 IfP@Q means P is the husband of Q; J#L
means L is the son of J; and NSM means N
is the brother of M, then which of the below
options definitely states that B is the mother
of A7
(A) A#BSC@D
(B) CSD@A#B
(C) BSC2A@D
(D) D@B¥CSA

LM-A

CEREwLINE
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Q15

Q16

Q17

QI8

¥ fiee & ao = o e Te W
I s ¥ Hatw 8 fore owe | oW
e UEe e o waew §

O  OHMIeY © oTEeT : 7
(A) HEgHEY
(B) ey
(C) s
(D) 3iTEeY

v e W A afy “LITMUS” &
“SMIUTL” férar @ & @ “INDIGO”
@1 “OINGDI” foran wmen 8, o ot 2
W § & ‘JAGGER' & @9 foan
LY

{A) RGAEGJ

(B) RGIEGA

(C) RGAGEJ

(D) RGJEAG

% e i # 4} “TABLE’ #1 ‘VEDNI'
feran e & @ ‘CHAIR' @1 ‘EJEOT'
forar wre &, o o¥ @2 W i BENCH?
o1 d9 forar amem?

(A) DIPF]

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

ik P@Q &1 aef & fs Q@ ufy P&
JHL @1 aref & b J@1 g L 8; aft NSM
o7 aref & i M @ i N &, o Frifrfm
A W 2 Pravea g @ &
A ¥ B#?

(A) A#BSC@D

(B) CSD@A#B

(C) BSC#A@D

(D) D@B#CSA
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Q19 Given below are four statements followed

Q20

LM-A

by four conclusions. Identify which
conclusion(s) definitely follow(s) the given
four statements disregarding the commonly
known facts.

Statements:

I.  Alldogs are cats

2. Some cats are tigers
3. Alltigersare lions
4. Nolion isadonkey

Conclusions:

I) Some cats are dogs

M) Alllions aretigers
lll) Some donkeys are tigers
IV) Notigerisadonkey

(A) Only conclusion I follows

(B) Only conclusions I1l and IV follow
(C) Only conclusions Il and 11 follow
(D) Onlyconclusions I and IV follow

If the below alphabets are formed as per
the ascending order of their appearance in
the standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4% 6" 9% and |6*
position from left?

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME

Q19

y Q20
£
;

11

Frefofm # ar gue sl owa 7 O
frerd R 1y &) ffte =¥ & 29
w/¥9 Frepd fag T weEt a1 fftea
WY W e awe &8 v & A
"EF w9 ¥ oeat ) A et

A
1. o g Rfseat &
2. oo ffeear am #
3. Wit g v
4, oIE IR T A6 &
forend -

N =e ffea o &
Iy =ft 9% am &

) e T §
IV) & ama ey 76 #

(A) s Frepd | arpaver s #

B) Faa Frepd 111 3R 1V e s
g

(C) @ fremd 11 3w 111 srqwewr &ed
]

(D) Faet fFrepd 13l IV argawor s
g

oft Frfafen sert @) wrs aiew 2
AR RS B H w0, o AR
uga, e, 88, 79 alv wHiered W T
et | B arfyet ol s e
B W &7

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
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Study the below series and identify what can
come in the place of “7".

GAS27,IEU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS7

(B) WWO61

(C) YUMS59

(D) YWN62

Study the below series and identify what can
come in the place of “7".

3947, 4379, 7493, 9734, ?
(A) 9437
(B) 7934
(C) 4793
(D) 3947

Ifthe symbaols *“+" and “~"" are interchanged,
“x"and “+" are interchanged, and also the
digits “3” and “T" are interchanged, then what
will be the value of the below equation?

83xT7-79+63+7
(A) -133

(B) -350

(C) 244

D) 511

12

Q21 fr=faften saen #1 ud 3w wa = S

WETHE (“77) & WIF Y B | ug
<l

GAS27, IEU35, MIY47, OMA29,
SOE39, USI49, ?

(A) WUMS7

(B) WWO6I

(C) YUMS9

(D) YWN62

fr=forfaa saar ® v v o o R
UaE (“77) @ W W @ O Hen
Yt |

3947, 4379, 7493, 9734, ?
(A) 9437
(B) 7934
(C) 4793
(D) 3947

afy fr=afefiaa wfiwwor § 0 affe <
B (S ¥ wgd faw oy, << iR
“" B - ¥ 95d Ry W, T
F@l “3" AR “7" o N (g | qEd
o o i faw e wievor & e
1 B

83x7-T79+63+7
(A) -133

(B) -350

(C) 244

D) 511
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Q24 The ages of husband, wife and their son are

Q25

in the ratio of 10 :9: 3. To calculate the age

of the son, which of the below pieces of

information is additionally required and
sufficient?

(A) Before 6 years, the age of the son was
20% the age of his mother then.

(B) After 10 years, the sum of the ages of
all three will be 30 more than the sum
of their present ages.

(C) The difference between the age of
father and son is more than the
difference between the age of mother
and son.

(D) The sum of the ages of all the three isa
perfect multiple of 11.

The perimeter of a rectangular ground with

comers A, B, C & D is 28 metre. To

calculate the area of the ground, which of

the below pieces of information is

additionally required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD.

(B) The sum of the diagonals is 8 metre less
than the perimeter of the rectangle.

(C) The perimeter of the rectangle is greater
than 50% of the area of the rectangle.

(D) The sum of all the internal angles of the

rectangle is 360°.

Q24

Q25

uftt, oeh 3R S g3 @ g 1 I

10:9:38 | 93 3 3G FI T T B

fory, Prefafen ¥ ¥ w3 few ol

@ FaRew 9 | JEEsa @eft o

v f grn?

(A) 67 4, 93 ¥l Jg IW W TEA
Hi @AY B 20% |

(B) 1099 arg, FHf A g & A,
TN A I B AT A 30 IS
B |

(C) T 3iR = & wezy 3y o1 i, Hi
R 95 & =g Ig @ IR @ afw
2i

(D) =t & amg @& A 11 & gof ora
g

A, B, C3lR D #FI ara saarar fgM

&1 ufAm 28 Mew ) M &1 dawd

i o @ fog, Frafofe & & @@

@ frm afw o sifiRen w9 9 amgwgsar

erft & wafe § gme

(A) Rav AC# ward gah & forrh s
fasot BD 91 @ard 21

(B) smaa & Rl o1 3 ama &
uftama & 8 A 79 8

(C) 3w &1 IRAM, ¥ga & §5%d 4
50% fers &)

(D) Jmad @ Wi salts S &1 an
360° 81
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Q27

Q28
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Name the 70-year-old lady from Odisha
who was awarded the Padmashri award for
her work of preserving of hundreds of types
of paddy seeds throughout her life.

(A) S.Thimmakka

(B) Kamala Pujari

(C) Harika Dronavalli

(D) Muktaben Pankajkumar Dagli

The first areca nut to get the Geographic
Indications (GI[) tag is the Sirsi Supari. In
which state is this supari grown?

(A) Karnataka

(B) Bihar

(C) Andhra Pradesh

(D) Odisha

In which town of Uttar Pradesh would one
find the 11 storied Pagal Baba Temple?
(A) Vrindavan

(B) Varanasi

(C) Samath

(D) Chitrakoot

J4D0EET

4

Q26

Q28

ahfewm 9t 9% 70 afta wfen & w0 W
& o frew wx A&t var @ um @9
o TRV B 1 B o vl g @
gefAe e

(A) TH. e

(B) Fwe qurdy

(C) sR&T Romae

(D) FHTET THGHAR TOTA

e gord guel Q¥ 2 & Oy Iifer
Hadae (GI) & urer g 8 ag gurd
fra g # amd o 87

(A) FAEH

®) fEr

(C) ¥ waw

(D) hfem

o weu @ fvw wev A 11 e g
amar wiew fMa?

(A) F=1E
(B) aworRe

(C) w™

D) fFaE
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Q29  The tomb of which of these ancient emperors

Q30

Q31

Q32

is located in the Sasaram town of Bihar state?
(A) Bahadur Shah Jafar

(B) Alauddin Khilji

(C) SherShah Suri

(D) Qutb ud-Din Aibak

The area called Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh - Bihar Border

(B) Uttar Pradesh — Madhya Pradesh
Border

(C) Uttar Pradesh — Nepal Border

(D) Uttar Pradesh — Uttarakhand Border

Computer tools such as Word, Excel and
Power Point are products owned by which
of these companies?

(A) Intel

(B) Apple

(C) Microsoft

(D) Google

Timothy Donald Cook, popularly known as
Tim Cook, is the Chief Executive Officer
(CEO) of which of these companies?

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

LM-A

24TBAR2Z

15

Q29

Q30

Q31

Q32

fas o & wraRm wEw A P
fre wrdts ware @1 Ay fem 87
(A) ¥ETEY ¥IE 9N

(B) @t Reash

(C) e |h

(D) FYI-TT-4 twa

qewas e & Pt fra
@ aferrfar amen &7

(A) 9T waw - fasw ¥

(B) SR WAW — Weg wWIW HA

(C) I W3W — ure &

(D) SR Wa¥ — Svwravs

HUEy & ged W % Word, Excel afie
Power Point Fr=ifaifas # 9 fsw #o+h
W weae &7

(A) Intel

(B) Apple

(C) Microsoft

(D) Google

el rres g%, e R @ &
§ o 8, Freefofea 4 @ fea
wodl & qum s afte™
(Chief Executive Officer (CEQ)) #7

(A) Google

(B) Twitter

(C) Amazon

(D) Apple
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Q33

Q34

Q35

LM-A

In the context of Microsoft Word, there isa
feature called ‘Gutter Margin'. What is this
feature used for?

(A) Improve the clarity of graphics and

Images
(B) Give provision for better document

bindi
(C) Improve the clarity of the printed text
(D) Facilitate the insertion of page numbers

Which of these districts of the state of Uttar
Pradesh does NOT share its border with
Nepal?

(A) Pilibhit

(B) Shravasti

(C) Sitpur

(D) Maharajganj

Which of these districts of Uttar Pradesh lies
on the UP-Bihar border?

(A) Basti

(B) Bulandshahr

(C) Banda

(D) Ballia
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Name the national leader who undertook a
marathon walk called ‘padayatra’ from
Kanyakumari to Rajghat in Delhi in 1983.
The intent of the yatra was to renew rapport
with the Indian masses,

(A) Chandrashekhar

(B) LK Advani

(C) Ram Vilas Paswan

(D) V.P.Singh

Name the Indian Prime Minister who
announced in the parliament that he would
implement the Mandal Commission’s
recommendations. This declaration triggered
nation-wide protests in India.

(A) RajivGandhi

(B) VP-Singh

(C) Chowdhary Charan Singh

(D) Chandrashekhar

Which city in Uttar Pradesh is called *suhaag
nagari” because itis famous for making glass
bangles?

(A) Firozabad

(B) Gorakhpur

(C) Varanasi

(D) Barcilly
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Who among these following leaders is also
the head priest of the Gorakhnath Temple
and Math?

(A) Uma Bharati

(B) YogiAdityanath

(C) Sri Sri Ravi Shankar

(D) Mahant Paramhans Das

Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathura

(B) Ayodhya

(C) Jhansi

(D) Varanasi

Which part of Uttar Pradesh is famous for
the delicately embroidered sarees called
“Chikankari sarees™?

(A) Moradabad

(B) Lucknow

(C) Meerut

(D) Prayagraj (Allahabad)

Name the poet and saint who wrote
Ramcharitmanas, another version of the
Ramayan.

(A) Ravidas

(B) Surdas

(C) Kalidas

(D) Tulsidas
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MName the South Indian King who vanquished
the forces of the Dutch East India Company
in 1741 in the battle of Colachel.

(A) VeeraPandya Kattabomman

(B) Raja Raja Chola

(C) Marthanda Varma

(D) HaiderAli

Name the famous warrior begum from the
principality of Awadh, who fought the British
as part of the 1857 mutiny?

(A) Begum Hazrat Mahal

(B) Begum Raziya Sultan

(C) Begum Jahanara

(D) Begum Meherunnissa

The first emperor of the Mughal dynasty,
Babur, has written an autobiography in his
native tongue of Chagatai Turkic. What is the
name of this book?

(A) Mughalnama

(B) Babumama

(C) Baburmubarak

(D) Bsburbihaya

LM-A
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When Atal Bihari Vajpayee became the
Prime Minister for his first tenure in 1996,
what was the closest approximate duration
ofhis Prime Ministership?

(A) Twodays

(B) Twoweeks

(C) Twomonths

(D) Twoyears

Name the celebrated physician in the court
of King Bimbisara who was the personal
(A) Ajathashatru

(B) Sariputia

(C) Jivaka

(D) Rahula

Which of these statements is TRUE with

regard to the poem ‘Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) Itwas Tagore's first ever poem.

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayer at
Shantiniketan.
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Q49 India's S-year plan system was adopted

Q50

Q51

Q52

from Russia. Name the Russian leader who
first implemented the 5-year plan approach
inRussia.

(A) Vladimir Lenin

(B) Joseph Stalin

(C) Leonid Brezhnev

(D) Nikita Khrushchev

Near which European capital would you find

the Palace of Versailles?
(A) London

(B) Paris

(C) Rome

(D) Brussels

The two famous universities of Oxford and
Cambridge are located in which country?
(A) France

(B) United States of America

(C) United Kingdom

(D) haly

How many total biosphere reserves are there
inIndia?
(A) 10
B) 12
(C) 18
(D) 25
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The Dandeli Wildlife Sanctuary is located in
which Indian state?

(A) Kerala

(B) Tamil Nadu

(C) Telangana

(D) Kamataka

In which of these hill stations would you find
the Cheeyapara Waterfalls, Pothamedu
View point and Attukad Waterfalls?

(A) Munnar

(B) Ooty

(C) Kodaikanal

(D) Yercaud

The city of Venice, criss-crossed by canals
and bridges, is located in which country?
(A) Denmark

(B) Scotland

(C) France

(D) laly

Mount Etna, considered to be the most
active volcano of Europe, is located in:

(A) Portugal

(B) Spain

(C) Greece

(D) haly

24634015
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Q58

Q59

Ponmudi is a small hill station in South India.
Itis located near which of these cities?
(A) Kozhikode

(B) Madurai

(C) Thiruvananthapuram

(D) Mangluru

Name the city that is the capital of Western
Australia.

(A) Darwin

(B) Perth

(C) Brisbane

(D) Hobart

Article 161 of the Indian Constitution confers
pardoning powers and commutation of
SENtence powers on:

(A) The President of India

(B) The Prime Minister of India

(C) The governors of various states

(D) The Chief Justice of India

Articles 5 to 11 of the Indian Constitution
deal with which of these aspects?

(A) Citizenship of India

(B) Languages in India

(C) Boundaries of Indian states

(D) Education for children
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Q61 Asof April 2019, who is the Governor of

Q62

Q63

the state of Maharashtra?
(A) ES.L. Narasimhan

(B) C Vidyasagar Rao

(C) Palanisamy Sathasivam
(D) Anandiben Patel

What does article 300A of the Indian

Constitution aim to guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
maritalrights.

(C) No person shall be deprived of his
property.

(D) No person shall be deprived of his
privacy.

Articles 324-329 of the Indian Constitution
deal with which of these aspects?

(A) Elections

®) Minorities’ .

(C) Panchayats

(D) Powersofagovernor

Currently, what is the highest percentage slab
for the new tax regime called Goods and

Services Tax (GST)?
(A) 18%
(B) 25%
(C) 28%
D) 32%
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Q65 Bezwada Wilson isasocialactivistwhowas  § Q65 Furaret fiee v wrifors wrfam &

Q66

awarded the Ramon Magsaysay Award in
2016. What is his sphere of social activity?
(A) Eradication of child labour

(B) Eradication of female infanticide

(C) Eradication of manual scavenging
(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic
cruise missile called Brah Mos?

(A) France

(B) China

(C) Japan

(D) Russia

Prime Minister Narendra Modi addresses Q67

the nation through his radio broadcast called
‘Mann ki Baat’. When did this program get
aired for the first time?

(A) October 2014

(B) October 2015

(C) October 2016

(D) October 2017
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United States is the country with the world’s
largest GDP. Which country comes second
in the global GDP ranking?

(A) Japan

(B) Germany

(C) China

(D) India

Abdelaziz Bouteflika, the President of
__,hasresigned in April 2019 bowing
to public pressure.

(A) Sudan

(B) Libya

(C) Chad

(D) Algeria

Name the new CEO of the International
Cricket Council (ICC) after the Cricket
World Cup 2019.

(A) Sunil Gavaskar

(B) Sharad Pawar

(C) Manu Sawhney

(D) RahulJohri
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Name the ex-CEO and MD of Ashok
Lqidehuhukovcrﬂsﬂ‘mCEﬂumu)m!
Enfield.

(A) Vinod K. Dasari

(B) Dheeraj Hinduja

(C) Rajeev Dubey

(D) G.V.Prasad

Name the cricket team that is number 2 in
international test ranking, as per ICC, as of
March 2019,

(A) New Zealand

(B) SouthAfrica

(C) Australia

(D) England

Who was chosen as the captain of the Delhi
Capitals teamn for IPL 2019 season?

(A) Virendra Sehwag

(B) Ravichandran Ashwin

(C) Shreyas Iyer

(D) Shikhar Dhawan
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Q74 In which state has the National Cancer

Q75

Institute (NCI) been set up in early 20187
(A) Rajasthan

(B) Punjab

(C) Haryana

(D) Himachal Pradesh

Which is the leading areca nut producing state
in India?

(A) Kerala

(B) WestBengal

(C) Manipur

(D) Kamataka
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Q77

Q78

Q79

Q80

SECTION-3 | GENERALSCIENCE / ARITHMETIC | 50 QUESTIONS

If the system 6x—2y=3, kx—y=2 hasa
unique solution, then:

(A) k #3

(B) k=3

(C) k #4

D) k=4

The square of any number is divided by 4,
(A) 1

(B) 0

(C) ecither 1 or0

(D) neither | nor0

While resolving 1500 into two factors, the
possible number of ways is:

(A) 12

(B) 18

(©) 36

D) 24

The ratio of Amit's age and Anu’s age, nine
yearsago was 5 : 7. Then 5 years from now,
which of the following CANNOT be the
ratio of their ages?

(A) 13:19

B) 11:13

(C) 15:16

(D) 21:25

Each of the interior angles of a cyclic
polygon with ‘n’ sides measures 144°, Then,
the measure of the angle subtended by each
of its side at the geometric centre of the
polygon is:

(A) 30°

B) 144°

(C) 54°

(D) 36°
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(A) 30°

(B) 144°

(C) 54°

D) 36°
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Q82

Q83

Q84
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- : -
i 2 E-.‘!:;::Bd = |, then & can be:
cos

(A) 45°
(B) 60°
(€) 30°
(D) 0°

Club A had won 30% of the first 60 matches
it had played in a particular season. Then
the minimum possible number of additional
matches the Club A should play to achieve
a success rate of 44% in that season is:
(A) 15

(B) 20

(C) 30

(D) 25

What was the name of the mission, an anti-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram

(B) Mission Shakti

(C) Mission Vikram

(D) Mission Sahas

What is the application of the GSAT-31
satellite launched by India on 6 February
20197

(A) Earthobservation

(B) Navigation

(C) Climate and Environment

(D) Communication
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Q85

Q86

Q87

Q88

Q89

Name the nuclear-capable surface-to-
surface intercontinental ballistic missile
developed by the Defence Research and
Development Organisation (DRDO).

(A) Prithvilll

(B) Trishul *

(C) Agni5

(D) Barak-8

Which of the following is a part of the
process involved in water cycle?

(A) Evaporation

(B) Sublimation

(C) Freezing

(D) Melting

Deficiency of which mineral causes anaemia?
(A) Magnesium

(B) lron

(C) Zinc

(D) Lead

Which of'the following is a commonly used
chemical method for purifying water?

(A) Hibemation

(B) Excavation

(C) Chlorination

(D) Denitrification

Which of the following is the source of
freshwater?

(A) Ocean

(B) Sea

(C) Brine

(D) River

Q85

Q86

SL0FEYYE

Q87

Q88

Q89
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e S 3R R wTeH (DRDO)
BV Ha® ¥ Haw W s ww-wem
yee—wEm i iERes Maga & am
T 8?

(A) gedi Ll

(B) Fre
(C) =ff 5
(D) TTH-8

fr=fafa d @ @ & uftem ora 9% 4
e uftsar &1 va fewm &7

(A) iy

(B) =TS

(C) fEdtavm

(D) fRAram

Pr=rferfiga § & 5 @SS (mineral) #
S | g grar 87

(A) Friifaram

(B) @rEr

(C) W

(D) ¥

Ul @ gE wE B fav sy o
gwd fha oA aren vwafs afe
fFefafea 4 @ &9 @ &2

(A) faffsam (gEavem)

(B) Sc@= (Yaaaae)

(C) Feirdfravy

(D) IFTEEIEROr

Fr=fafaa 4 @ ®9 #2 ot &1 w9
A W 87

(A) TETHIY

(B) &I

(C) &Y

(D) &
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Q92

'Q93

Which of the following is a good source of
vitaminA?

(A) Fishoil

(B) Sugar

(C) Banana

(D) Coconut oil

Sound CANNOT travel through:
(A) Gas

(B) Vacmum

(C) Liquid

(D) Metal

Which form of energy causes a matchstick
to ignite into a bright flame when the
matchstick is struck against the maich box
surface?

(A) Potential energy

(B) Kinetic energy

(C) Chemical energy

(D) Wind energy

OGS systern of measurement unils stands for:
(A) Coulomb, Gauss, Steradian

(B) Celsius, Grade, Second

(C) Centiliter, Gallon, Siemens

(D) Centimetre, Gram, Second

In Electronic Communication Systems, noise

refersto:

(A) unwanted signals that tend to disturb
the transmission and processing of
message signals

(B) loud music harming the eardrums

(C) sensation of hearing that is not audible

(D) unwanted sensations that disturb
messages

LM-A
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Q90

Q91

Q92

Q93

frrafafam 4 & o w Ref= Aw @
et W 87

(A) Aol W1 O

(B) @

(C) &an

(D) Tftas &1 o

afy Prefafas § 9 R wmem 3§ g
a8 7 wad ¥

(A) tu

®) P

(C) wa

(D) =g

wifere o e 3 wos ¥ ow Aoy 6
dieh ewmodt & O sl @ FF W w9
U Tl o # waafed 81 &1 S
T &7

() Rufw s

8) wfrw FHuf

(C) wwmafys Sl

(D) g wei

A1 gEgdl 1 CGS wonel & Fraferfr
4 9 T ofam 87

(A) moa, vitE, e

B) dfewaw, T, Hae

(C) ¥Hfefrer, faw, ¥rfa

(D) ¥y, Im, ds

goapie war wonferd | wiv Fefeft

i ¥ A wefila ovar &7

(A) aifoa frea o w2y Reea @
TR 3R g # S §

(B) it @ T TEEM AT O
i

(C) ¥ wfy g o o A T @

(D) aifra Hae=ng off el % ann
s B
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Q95  Which of the following is TRUE about the

Q96

Q97

Q98

process of evaporation?

(A) Itdoes not depend upon humidity level.

(B) Itincreases with increase in surface
area.

(C) Itdecreases with increase in wind
speed.

(D) Itdecreases with increase in

temperature.

Plaster of Paris is a product of:
(A) magnesium

(B) aluminium

(C) calcium

(D) sodium

Which of the following statements is TRUE

about natural rubber?

(A) Itisanatural polymer and possesses
elastic properties.

(B) Itisanartificial polymer and possesses
elastic properties.

(C) Itisnota polymer but possesses elastic
properties,

(D) Itisa natural polymer but does not
possess elastic properties.

Which of the following is a form of calcium
carbonate?

(A) Washing soda

(B) Baking soda

(C) Limestone

(D) Table Salt

i Q95 amefiaser o) whvar @ a4 P

Q96

Q97

Q98
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A9 7w &7

(A) T8 T & we © ol ] s

B

(B) 1% W & &7 9 gfy @9 oy qedl
gl

(C) u® g1 & 7l # gfE #F W ue
et #)

(D) @® v A g 8F W e o
gl

e aifw 9t Frafafte 3 9 faer
UE I 87

(A) #iiferm

B) vegffyas

(C) dfearaw

(D) wfgaw

wgfw Wy & an 7 Frafefae § @

B I T TE A7

(A) T® (& uipios agas & v g
dragr o B #)

(B) ¥% v& P agas & ol g
drar v B &)

(C) & U dgaid 161 &, af gwil
wrean o #)

(D) TE (& Wil agas & Afdm gai
AEER o 6 B £

fferfa % 9 @9 wr dfarm sk
B U WY /7

(A) @R wrer

(B) #fFm we

(C) TT—Ter

(D) 2ad wie (77)
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Q99 Dietary intake of is essential for
the normal functioning of thyroid gland.

(A) sodium

(B) calcium

(C) iodine

(D) potassium

Q100 Whichmicroorganism is Penicillin obtained
from?
{(A) Amoeba
(B) Virus
(C) Protozoa
(D) Fungi

Q99 e (uradfus) Wil & W ST
@ forv amgw A Frfefas # | R
a1 HN TEY 87
(A) wifEam
(B) Hfeeram
(C) maré
(D) Wrefrm

Q100 f3fHfer fra el & e gen &7
(A)
(B) fammy
(C) Wreraa
(D) waE

™~

Q101 Which of the following discases is caused : Q101 Rzfm A o @ Freferfen # & o

by the deficiency of vitamin A? X w1 < g &7
(A) Rickets (A) Raes
(B) Scurvy B) ¥l

(C) Nightblindness (C) et

(D) Pellagra (D) Hema

Q102 Which of the following diseases is caused
by the deficiency of vitamin B (thiamin)?

Q102 faerfim B1 (Rrnfis) & = @
fferftaa 3 & @9 w 9 @ &7

(A) Rickets (A) Ragw
(B) Beriberi (B) 4
(C) Nightblindness (C) weffeh
(D) Pellagra (D) damm

Q103 Which among the following is a vitamin
deficiency disease in which dark red patches

Q103 Fr=fafam 4 9§ @9 vs Refm @ a0
& T B arel W7 & frad duy, me,

occuron face, neck, hands, calves and feet? & afte 49 ue e oe 91 B 9w U8
(A) Pellagra R #®?
(B) Thyroid (A) damm
(C) Anemia (B) uraRias
(D) Keshan (C) Tt
(D) #¥
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Q104 Blood enters the kidney through the:
(A) renal artery
(B) external iliac artery
(C) axillary artery
(D) ulnarartery

Q105 Whichamong the following organs secretes
bile juice?
(A) Heart
(B) Brain
(C) Kidney
(D) Liver

Q106 Whichamong the following diseases is very
rare in womnen as compared to its occurrence
inmen?

(A) Myopia

(B) Kidney stone
(C) Braintumor

(D) Colourblindness

Q107 Haemoglobin is the protein inside red blood
cells that carries:
(A) oxygen
(B) carbon dioxide
(C) nitrogen
(D) ozone

Q108 Which of the following is equal to
8.13 x 1097
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000

LM-A

)
L%

ZAtHAR

Q104 e arerfer 7 & varwr Pysrfirftae o &
e wmam ¥ wde awen &7
(A) ga
(B) as® gfa® el
(C) =iy (vfmerdl) e
(D) 3w wsifts®! (arev) wwft

Q105 Freiferfire st & & @ @ st Mo o
& W Hear 87
(A) BE
(B) wftass
(C) T
(D) aga

Q106 Fr=fafaa # & &% w1 9 ol
qer i ARl | aga @w g &7
(A) Fregfe 2 (Fmaifn)
(B) et 4 verd
(C) #1 TR
(D) =vifer (Few @deia)

Q107 #riraifis o vaer Tl @ aiey
P UE WeH § o us Frefafa §
foreren aw= @var &7
(A) asifaeirom
(B) w7 STEaifaIge
(C) Mg
(D) v

Q108 F=iferfere % & @9 w1 Aew
8.13 » 10° & avray &7
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000
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Q109

Q110

Q111

Q112

When 0.353535... is converted into a
fraction, then the result is:

35

99

35

100

15
19
1

99

(A)

(B)

(©)

(D)

What is the HCF of 2¥x3'x52x7,
2x3 xS xTand 2 xIx5x7T?

(A) 210

(B) 420

(C) 1005

(D) 1050

Solve the following.

Olw O

(©)

Ol w—

(D)

A number is as much greater than 55 as it is
lesserthan 79. The number is:

(A) 59

(B) 63

(C) 65

D) 67

LM-A
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Q109 w4 0.353535... B fir=1 ¥ agan e &,

a1 gfoms = gm?
35

99

35

100

15

19

L
99

(A)

(B)

(€)

(D)

Q110 22x3x 5% 7, 2x3xFx T 3R

Qlll

Py 3 5% 7@ FETH GHUAAS
(HCF) st @37

(A) 210

(B) 420

(C) 1005
(D) 1050
frrfafe & 50 a% 1
JE_1=?
81 9
(A)

(B)

v O

(€)

(D)

ol o=

Q112 % we, 559 9o & 78 & foree fa

78 799 B B | Hem ww |
(A) 59
(B) 63
(C) 65
(D) 67

SERIES-A-H




Q113 The sum of three consecutive numbers is 96.
The greatest among these three numbers is:
(A) 28
(B) 31
(C) 33
(D) 43

Q114 Which of the options will come in place of
the question mark (7) in the following
equation?
I!ﬂ+]ﬁxB—?x2=|
T-6x6-3
(A) 16
(B) 49
(C) 60
(D) 128

QL15 1000 boys and 600 girls are examined ina
test. 43% of the boys and 35% of the girls
passed. The percentage of the number of
candidates who failed is:

(A) 40%

(B) 50%

(C) 58%

(D) 60%

Q116 A finishesa work in 9 days and B finishes
the same work in 18 days. In how many days
will they together finish the same work?
(A) 3days

(B) 6days

(C) 8days

(D) 9days

ZZEe00rE

Q113 R &= it & arr 96 &
i el § v e e @ W
&7
(A) 28
B) 31
(C) 33
(D) 43

Ql14 Frfafea wiewr 4 uwfir () @

o W Frefafaa 4 @ a9 w e

FTqT?

|23+Iﬁx]—Tx1_I
P2-6x6-3

(A) 16

(B) 49

(C) 60

D) 128

Q115 et wdan % 1000 s aiv 600 wefral
o gden o orh B w4 W 43%
R wefal § | 35% ow B &) o
B a1 BTl B g wfe

gl

(A) 40%

B) 50%

(C) 58%

(D) 60%

Q116 A e wm # 9 R= & qur awen & afv
B o¥ @M &) 18 R § g v 8 A
21 W e #v o W @ s R
LRl
(A) 3fam
(B) 6
(C) 8fE=
(D) 9 R
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Q117

How many minutes will Preethi take to cover

a distance of 500 m, if she runs at a speed

Q117 afe B 30 km/hr  7fAY | dhach 8, @

FU 500 m A T F w4 HYA A faern

of 30 km/hr? HHY F?
(A) 1min (A) 1min
(B) 2Zmin (B) 2min
(C) S5min (C) Smin
(D) 6min (D) Gmin

Q118 Which ofthe following cars with speed given Q118 A € e fey areht Pr=rferfas Reeat 4

below is the fastest? | 7 @ or 99w a9 &7

(A) 90km/hr (A) 90 km/hr
(B) 25 m/sec (B) 25m/sec
(C) 1500 m/min (C) 1500 m/min
(D) 100 km/hr (D) 100 km/r

Q119 Asolidrightcircularcylinderhasaradiusof Q119 & 21 ¥4 Jeiy & & B 21 em

21 cm and height of 16 cm. What is its alw Fad 16cm B | §9@ 9% WOE! (curved

curved surface area? surface) ST B WK &Y |
(A) 2000cm? (A) 2000 cm?
(B) 2002 cm’ (B) 2002 cm’

(C) 2010¢cm? (C) 2010 em?

(D) 2112em?

IZRRZI0SE

(D) 2112em?
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Q120 Two pipes A and B can fill atank in 16 hours

Q121

and 48 hours respectively. If both the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10 hours

(B) 12hours

(C) 15hours

(D) 16hours

Al present, the ratio between the ages of
Vimal and Vinay is4 : 5. A fter 6 years, Vimal's
age will be 26 years. What is Vinay's age at
present?

(A) 20 years

(B) 21 years

(C) 25years

(D) 30years

Q122 An accurate clock shows 9 o’clock in the

moming. Through how many degrees would
the hour hand have rotated when the clock
shows 3 o’clock in the afternoon?

(A) 150°

(B) 155°

(C) 175°

(D) 180°

LM-A
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Q120 A 3R B 1 gy fseht &% &1 16 92 3w

48 He, waw # W waa &) ofy =i
UTEY UF WY Wi fav ond o 2 &)
W | o wwa wE?

(A) 10 %2

(B) 1262

(C) 1582

(D) 16 62

lelaﬂwqﬁf%rrman?ﬁwu:ﬁ#ang?ﬂ

HIUTT 4: 58| 69 AT fAawer o amy
26 T 81 oA | wefar ¥ R o sy
aar 87

(A) 20a¢

(B) 21 ¢

(C) 25ad

(D) 30§

Q122 1% wcie Ul ga® 9 991 & W fRarh

8| e 9 JUEr 3 3 9o Rar® 2 o
ue @ g8 fet faft v e

(A) 150°

(B) 155°

(C) 175°

(D) 180°
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Q123 Ifastraight line intersects the sides AB and Q123 Tt e Bef@ A ABC &1 4 AB 3R
AC of a AABC at D and E respectively AC =1, ®1E = Y@ D 3R E o #h

AE Fed! & ok 98 BC @ wAFieR & o
and is parallel to BC, then —— =7

AC ﬂE e
AD AC
“ 5 o
| AD W Ec
® s AD
AD T
© 2B AD
‘ DE © 2B
(D) BC DE
@) Jc

Q124 A system of two linear equations in two th24 31 Y wefiaon @ o womel 1 <1 uY

variables is inconsistent if their graphs: T & afg 95 aE

(A) cutthe x axis (A) X & BIE

(B) cuttheyaxis (B) y 3 &IE

(C) coincide (C) %Y B (coincide)

(D) donot intersect at any point (D) fa o fig ov wfrede =
Q125 If  =45° then cos’ 8 +sec’ 6 =7 Q125 afe @ =45° &1, @ cos’ B +sec? B =7

(A) 0 A 0

(B) 1 B 1

(C) 2 (©) 2

D) 2.5 D) 2.5
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Q126

Q127

Q128

Q129

PSG1

LM-A

SECTION-4| GENERAL HINDI |25 QUESTIONS

& Wit @ shwre & Ba o9 ot

dromar wre o wer T &7
(A) IfEsra

(B) Wi

(C) Nt

(D) IEFs ae

Fraforfer & 4 # @ w== gaddtam
o T 87

(A) aRag

(B) "amaen

(C) Arpwrframea

(D) waare

&S 1 wem wraw g3 @ @ g
(A) ®f F9 Har

(B) 3 Axive

(C) eRu= ufzawm

(D) e

&8 A 5oty red weh o &7
(A) sl s

(B) srgwmrel argww

(C) @8 3qEs

(D) WNET smauy

frafafan sl &1 ammm fift
3R A9 By v wwt (wes w1 130 -
132) & 9 &

Hioq® @R 7w @ wgh v
Fffr 1 SgufRa svar &) o,
weiwa o ufE areeor & e

41

fiegs @aen wes @ff 3 R
sy &) gwd wg @ wfy aed
8| Moam = was gea Ag o
&1 diogan @R ¥ wgw g v
B 599 ameiw afk wdw o Refd
i I A T O gEe
aERY ® Gor grar 8 vt ol
HH=Tel 1 3Fa e & | freram afad
I W9 H A A wh wn w
guwian @ven 8 | e gan wyegf
slar 2 B feh ol @ A
Rere—Remf], oei-ast anft wh 3
fog Megm @aer v w9 @ aews
& | Rl # af fier o1 apma & a9
s R ) aifea fen wrar 48 #v
w | e afed a1 wded §
ariaTara A 9fy wa & 8 Fen 8
ot Wy 8 9eah afaere A el an
il 81 §9 e o ) Iufefy §
sfEd of alv afrre wdafar @
dr, Rerror afe fenffal @ 4 aen
S 3wt @ 9w el v
wau wfta o) # ok ude of
wrigueT A 3fE Bch &) gw o @
W W BR-9 —uier aiftn af
werpfe affa & oan &) e %
gebt 3R 2 o AR B gw T @
e R st W & | TRaR® Hwer
T 70 @ Ao sl AR v o
aWga I @ I3 s ¢
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Q130

Q131

Q132

Q133

LM-A

i dasm mow e @

wau # o 87

(A) diregan @EER | {Es awmE
w1 fFmfo g 2

B) 9wt &6 v 2|

©) TRaR® R fa 71 Reka
w3 Ayl qfe Fond &)

(D) Yoy WAER B8 # ¥ H
U | HAES B

e ¥ Y@ifea siw A s @mEm

Bt

(A) e vy g R oman 81

B) & ard @ e w fa wie
wfa & a2

(©) =& i & wi g & 9t I
o fre el 9|

(D) el ord frear 8 ot @i &
wye g 8

ey ¥ A W owE g @
fasm &
(A) el
(B) WTE
(C) gl

(D) FrEET

e o wed 9, srfey W a
o199 TS W e wifat @ o @
8T B, oW 99 1 o8 omn 87

(A) wrafera ey

(B) JferEe

(C) FTEIRS

(D) Re=

o
%

Q136

42

Q134 v+ Rurey & 5 FHRTm g &

Q135

Q137

Q138

avis wed By o @ foran a7 e
ife & sferia amgm?

(A) TS

(B) sdwrEEE

(€) ¥afes

(D) amamfis

Pt 3 2 P9 wr siow == 27
(A) ®
B) ©
) 4
®) @

Prefafaa 4 ¥ 319 W ¥ Fonod
2?7

(A) &

B)

(C) 3

D) ¢

o + & fFe W AR & ST §7
(A) T
®) Ity
©) &
D) T

'weinr f wwTe @ g 87
(A) ardmE

(B) TeqeH

(C) &1

D) @&
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Q139

Q140

Ql41

Ql42

LM-A

e wfteat it gw afeer w -
g | Y@ smm-wan Prefafae
A ¥ @ ¥ 1 9w &7

(A) e

(B) i

(C) wauwwrs

D) Reafidas

T8 W fRigh o oo &1 -
T ¥ WWifra v Ay @ frw 4
@ ferfer amgm?

(A) TomETaS

B) ufaETEs

(C) witdor

D) s

fFrafafaa # 4 29 w o wwe &
vafaard 87

(A) &

(B) @

(C) wnferm

(D) weg

Prefrf o & 2 w1 R o wh
T

(A) YR—amE

®) wa-wTEw

©) TH-wrh

(©) "ru-arg
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Q143

Q144

Q145

Q146

MR- wwE-g 3 far wd
aei-gm o)

(A) AF-TER

B) TEd-a™

(C) frd—ferh

(D) Ferch-fird

‘o gl A ade & A wr-
A & oY @ we Jomy |
(A) gfeafom

B) ¥ewfrs

(C) wfRurha

(D) ey

TH UE TS W 8 o o R -
it vz % # ar gt 87
(A) Fur

(B) feywvor

(C) wwE™

(D) IR

@ T Br- far @ W o @
g &7

(A) wfem s

(B) ¥ wfae

(C) i v

(D) ¥ s

SERIES-A-H




Q147

Q148

Q149

Q150

LM-A

Fu a9 @) fadhe et T

g0 W gag & M T @ w9

frfarftan & & &1 W 87

(A) Tw= o s #§ el £

(B) I gl 3 98 Py gt g

(€) =w @e fh wa Frely ehfte fvan
W |

(D) 5% ow & # s & FEh
Hifia @ ¥ €

e Rre @ st 4 gfie & Prefiri

# ¥ B9 W oAy wd T 87

(A) 98 5 9, 780 ¥ 8. I ¥ 8

(B) §A, ¥, @& W W@ &)

(©) =&, afl, tar wh T8 8 W)

D) ®w, w dar A 8, A B gEd
garen B

ufeat e gEraY @ el oY @
B

(A) tfedl W% e

(B) ufss HEm

(C) @Ed ANe—HT HE

(D) TR HEAT

WA B A WIE G- A o1 a8
3 771 87

(A) e # B ik Wl A g

(B) 7 @@= # &, A WiEl § {qa
(C) 3¥a 4Ry

(D) §eT U W Im

44
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Read the following Instructions carefully :

Frefarfaa Aidal & e @ g -

Out of the four allernatives for each guestion, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet, Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care,

as under no circumstances {except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

. Each candidate must show on demand his / her Admit

Card to the Invigilator

Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet lo the
Invigilator on duty. Cases where a candidate has not
signed on the Atltendance Sheet will be deemed not Lo
have handed over the Answer Sheet and deall with as
an unfair means case.

Use of Pencil/Elecironic/Manual Calculator is

prohibited.

, The candidates are governed by all Rules and

Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules end
Regulations of the Commission,

10.Afer Examination is over, candidate has o return his

Answer Sheet to invigiletor. Invigilator will hand over
the Candidatle's copy lo candidate, then only
candidate is allowed to leave the examination hall.

Candidate is only allowed to tnke Candidate’s copy of

answer sheet,

11. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the
Invigilator after the exam,
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